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—iRIEE
XE [&KBCe) | KEBCC) | HEBUKE | FiR =i RS
4R g 14.9 12.0 == B i) mE
6A i 33.1 24.0 == B wmeE mE
8A| M5 29.6 22.5 == B i ) wmE
10A| #= 29.4 23.0 3 B ) BE
128 i 15.5 11.0 == B wme mE
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oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) _|(MPN/100ml)
EHE (75%(E) - 11 3.4(5.1) 8 28000
48] 87 12 2.3 6 270
68| 79 8.8 1.2 5 17000
8A| 77 12 1.5 6 14000
10A]| 78 9.4 5.1 5 130000
128] 76 11 5.1 5 3000
28] 79 13 5.2 23 3000
BEIEHE
N INES S ) AfoOL | ®BE BiKEE | FAFIKE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#EE] 001 LLF [ & | 001LLTF | 005LLF [001LLTF | 0.0005LLF JEtR
T5{E] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
4A[ <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2R - - - - - - -
ooand . .- [1.2->oo00(1,1-o>saal o X-1,2-S7 [1,1,1-F)Zan
PCB gy | PEEERR |\ Lo | 'zFly | mozFoy THY
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE] ERH 0028 TF | 0.0028LF | 0.0048LF [ 0020 F | 0.04LLF 1UF
E5{E] <0.0005 | <0.002 [ <0.0002 <0.0004 <0.002 <0.004 <0.01
4 AT <0.0005 [ <0.002 [ <0.0002 <0.0004 <0.002 <0.004 <0.01
68| <0.0005 | <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
8H - - - - - - -
10A] <0.0005 | <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
128] <0.0005 | <0.002 | <0.0002 <0.0004 <0.002 <0.004 <0.01
2R - - - - - - -
1,12-+y4 M)A |Fr549a0x(1,3->4/00 = s = ose FARLAIL
anzsy |TFLY | FLy | Fasy |TOIL| ¥RYY J
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E10.006LLTF[0.03LLF| 001LLF [ 0.002LLF [0.006LLF| 0.003LLF 0.02LLF
E15{E] <0.0006 [ <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
4 A <0.0006 [ <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
68| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
10A]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
128] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLTF [001LLF| 10BF 0.8LLF 1DF
Eiy <0.001 <0.001 0.69 0.1 <041
4H] <o0.001 <0.001 0.88 0.1 <0.1
6A] <0.001 <0.001 0.45 0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.61 0.2 <0.1
12H] <0.001 <0.001 0.81 0.1 <0.1
2H - - - - -
EDHIEE
Nonmn| TEX | 2@ @ | 2E® |saofus| THATLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TiH{E <0.5 1.5 0.089 - 0.006 <0.001 <0.008
4R <0.5 1.1 0.081 - <0.005 <0.001 <0.008
64 <0.5 0.8 0.057 - <0.005 <0.001 <0.008
8A <0.5 1.1 0.077 - <0.005 - -
10H <0.5 1.4 0.14 - <0.005 <0.001 <0.008
128 <05 1.4 0.10 - 0.008 <0001 <0008
28] <05 30 0.081 - 0.006 - -
BiLH HIHERE | UV BRM ; = i S
IT/=| kS coD el > A E EXizEx
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (4 S/cm)
EHE]  <0.02 34 6.5 0.01 - - 240
4H| <0.02 35 3.6 0.02 - - 150
6A] <0.02 32 3.2 0.01 - - 120
8H - - 4.4 - - - 200
10H]| <0.02 35 9.0 0.01 - - 300
12H]| <0.02 35 13 0.01 - - 360
2R - - 5.6 — — — 310




